275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

FENDER GUARD

INSTALLATION INSTRUCTIONS:
1. Attach the fender quard to the mounting bracket using the #10-32 x 2" pan head screws supplied. Do not tighten, as it

will be disassembled.

2. Place the assembled fender quard against the fender 1-1/2” from the grill. The back of the mounting bracket will rest
against the outer surface of the fender. The bottom of the mounting bracket should match the bottom of the fiberglass

fender.

3. Trace the slotted mounting holes on the bracket with a pen. A second set of hands may be required to accomplish this.

Detach the fender guard from the mounting bracket and set aside.
4, Drill a %4” hole in each location marked in the previous step.

5. Install the mounting bracket to the surface of the fender, using the %" carriage bolt, washer and nylock nut supplied.

Hand tighten as adjustments will be made later.
6. Re-attach the fender guard to the mounting bracket as in step 1 and tighten.

7. Move the fender guard into the desired position by repositioning the mounting bracket up or down as required. Tighten

when desired location has been reached.

8. Check that all fasteners are tight and secure. Remove the plastic covering from the surface of the fender quard and clean

with glass cleaner if needed.

FENDER GUARD

TRACE SLOT

BRACKET

Page 1 of 3 [IKW001 08/2004



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

PROTECTEUR D'AILE

INSTRUCTIONS D’INSTALLATION:
1. Fixez le protecteur d'aile sur le support de fixation en utilisant les vis a téte bombée 10-32 x 1/2" fournies. Ne pas serrer, car

il faudra par la suite le démonter.

2. Placez le protecteur d'aile assemblés contre l'aile a 1-1/2" de la calandre. L'arriére du support de fixation repose contre la

surface extérieure de ['aile. Le bas du support de fixation doit correspondre a la partie inférieure de l'aile en fibre de verre.

3. Marquez les fentes d'installation sur le support a ['aide d'un stylo. Une deuxiéme paire de mains peuvent étre nécessaires

pour accomplir cela. Démontez le protecteur d'aile du support de fixation et mettez-la de coté.
4, Percez un trou de 1/4" a chaque endroit marqué a ['étape précédente.

5. Installez le support de fixation sur la surface de 'aile, a l'aide du boulon de carrosserie de 1/4", d’une rondelle et d’un écrou

fournis. Serrez a la main car des ajustements devront étre faits plus tard.
6. Re-fixez le protecteur d'aile sur le support de fixation comme a ['étape 1 et serrez.

7. Déplacez le protecteur d'aile dans la position souhaitée en repositionnant le support de fixation vers le haut ou vers le bas

au besoin. Serrez lorsque 'emplacement souhaité a été atteint.

8. Vérifiez que toutes les fixations sont bien serrées et sécurisées. Retirez la pellicule de plastique de la surface du protecteur

d'aile et nettoyez avec un nettoyant a vitre si nécessaire.

PROTECTEUR
D’AILE

TRACEZLES
FENTES

SUPPORT

Page 2 of 3 [IKW001 08/2004



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a“e L Q Tel. 519-884-8555

)74 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

PROTECTOR DE DEFENSA

INSTRUCCIONES DE INSTALACION:

1.

Junte la defense al soporte de montaje usando los tornillos de cabeza plana #10-32 x 2" provistos. No los apriete, ya que se

desensamblara.

Ponga el protector de defensa ensamblada contra (a defensa a 1-1/2” de la parrilla. La espalada del soporte de montaje
descansara contra la superficie externa de la defensa. La parte inferior del soporte de montaje debe casar la parte inferior

de la defensa de fibra de vidrio.

Trazar las ranuras para agujeros de montaje en el soporte con un marcador. Un sequndo par de manos serd necesario para

llevar a cabo. Desprenda el protector de defensa del soporte de montaje y ponga a un lado.
Perfore un agujero de %" en cada localizacion marcada en el paso anterior.

Instale el soporte de montaje a la superficie de la defensa, usando un tornillo de carroceria de 4", arandela y tuerca Nylock

provistas. Solo apriete a mano pues se hardn ajustes posteriormente.
Coloque nuevamente el protector de defensa al soporte de montaje como en el paso 1y apriete.

Mueva el protector de defensa a la posicion deseada reposicionando el soporte de montaje para abajo o arriba sequn sera
requerido. Apriete una vez llegue a la localizacion deseada.

Aseglrese que todos los sujetadores estan apretados y sequros. Remueva el plastico cubriendo la superficie del protector

de defensay limpie con limpiador de vidrio si es necesario.

PROTECTOR DL,
DEFENSA

DEFENSA

SOPORTE

Page 3 of 3 [IKW001 08/2004



